<~ Ny —F4— Nz A A
201748 ML X B A& AL oM AR Sk oy Am & (B (5 /ml)
X5y 4 A 5 A 6 H 7 A
<1.4 —3.4 —5.4 —10.4—20.4205= =34 =10.4/<1.4 —3.4 —5.4 —10.4—20.4205==34 =104 <14 —3.4 —5.4 —10.4—20.420.5==3.4 =<10.4/=<1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4
Hi X (% %) (% %) (% %) (% %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
PV 97.9 2.1 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0
2250 91.0 9.0 100.0 100.0 96.8 3.2 100.0 100.0 1100.0 100.0 100.0 |94.4 5.6 100.0 100.0
)1 96.1 3.4 04 99.6 100.0 96.2 3.4 0.4 99.6 100.0 97.3 1.9 0.4 0.4 99.2 99.6 1965 2.7 0.8 0.0 99.2 100.0
%k 100.0 100.0 100.0 97.2 2.8 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0
Ficgil 92.5 7.5 100.0 100.0 |100.0 100.0 100.0 94.5 5.5 100.0 100.0 1 97.1 2.9 100.0 100.0
b= 96.3 2.3 1.4 98.6 100.0 1 98.5 1.5 100.0 100.0 1100.0 100.0 100.0 1 98.2 1.1 0.7 99.3 100.0
JiIER7 98.9 1.1 100.0 100.0 1100.0 100.0 100.0 1 97.3 2.7 100.0 100.0 1 95.6 2.7 1.6 0.0 98.3 100.0
H& 98.8 1.2 100.0 100.0 1 99.2 0.8 100.0 100.0 194.9 3.5 1.6 98.4 100.0 1 98.9 1.1 0.0 100.0 100.0
5 99.3 0.5 0.1 0.1 99.7 100.0 [99.2 0.5 0.2 0.1 99.7 100.0 |98.4 1.2 0.0 0.2 0.1 99.7 99.9 198.8 0.9 0.2 0.0 99.7 100.0
Bl 98.1 1.5 0.2 0.2 99.7 100.0 |97.7 1.6 0.4 0.3 99.3 99.7 197.3 1.8 0.3 0.3 0.2 99.1 99.8 198.7 1.1 0.0 0.3 99.7 100.0
R 99.4 0.5 0.1 99.9 99.9 98.9 1.0 0.1 99.9 100.0 198.4 1.2 0.3 0.2 99.6 100.0 |97.8 1.8 0.3 0.1 99.6 100.0
W 98.6 1.1 0.3 99.7 100.0 |98.1 1.5 0.2 0.1 99.6 99.9 /981 1.3 04 0.1 0.1 99.4 99.9 1985 1.3 0.1 0.1 0.0 99.8 100.0
ER 99.3 0.7 100.0 100.0 1 99.7 0.3 100.0 100.0 1 99.5 0.5 100.0 100.0 198.9 0.9 0.2 99.8 100.0
L] 99.2 0.8 100.0 100.0 1 99.5 0.5 100.0 100.0 1 99.3 0.7 100.0 100.0 1 95.9 4.1 100.0 100.0
3 #1988 1.0 0.1 0.1 0.0 99.8 100.0 [98.7 1.1 0.1 0.1 0.1 99.7 999982 1.3 0.2 0.2 0.1 0.0 995 99.9 983 1.4 0.2 0.1 0.0 99.7 100.0
20164 98.5 1.2 0.2 0.1 99.7 100.0 |98.7 1.0 0.1 0.1 0.0 99.7 100.0 |98.8 0.9 0.1 0.1 0.0 99.7 100.0 |98.5 1.4 0.1 0.1 99.8 100.0
20154 98.6 1.0 0.1 0.2 0.0 99.6 100.0 198.9 0.9 0.1 0.1 0.0 99.8 100.0 |198.6 1.0 0.1 0.2 0.1 99.6 99.9 1985 1.1 0.2 0.2 0.0 99.6 100.0
X5y 8 A 9 A 10 A 11 A

<14 —3.4 —5.4 —10.4—20.4205= =34 =10.4/=<1.4 —3.4 —5.4 —10.4—20.4205==3.4 =104 <14 —3.4 —5.4 —10.4—20.420.5==3.4 =<10.4/=<1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4
Hi X (% %) (% %) (% %) (% %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
PV 98.1 1.9 100.0 100.0 191.9 1.7 4.1 2.4 93.6 100.0 98.1 1.9 100.0 100.0 1100.0 100.0 100.0
2250 89.1 8.5 2.4 97.6 100.0 100.0 100.0 100.0 1 93.2 2.4 4.4 95.6 100.0 100.0 100.0 100.0
)1 96.7 1.3 09 1.0 98.1 99.0 198.2 1.8 0.0 100.0 100.0 1 97.8 1.8 0.4 99.6 99.6 98.7 1.3 100.0 100.0
#%&E  100.0 100.0 100.0 97.4 2.6 97.4 100.0 |97.4 2.6 100.0 100.0 ' 94.1 3.1 2.9 97.1 100.0
Ficgil 100.0 100.0 100.0 /100.0 100.0 100.0 1 94.7 5.3 100.0 100.0 1100.0 100.0 100.0
B 96.7 3.3 100.0 100.0 98.2 1.8 100.0 100.0 1 97.2 1.5 1.3 98.7 100.0 97.6 2.4 100.0 100.0
JiIER7 94.7 29 1.2 1.2 97.5 100.0 97.1 2.9 100.0 100.0 1 93.2 4.5 1.2 1.1 97.7 100.0 | 98.3 1.7 98.3 100.0
H& 100.0 100.0 100.0 1 98.7 1.3 100.0 100.0 1 99.1 0.9 100.0 100.0 1100.0 100.0 100.0
5 98.3 1.3 0.4 99.6 100.0 |98.8 1.0 0.1 0.1 99.8 100.0 [99.0 0.9 0.1 99.9 100.0 |98.8 1.0 0.1 0.1 99.8 100.0
B 98.7 1.0 0.2 0.2 99.7 100.0 |99.0 0.7 0.2 99.8 100.0 [99.1 0.6 0.3 99.7 100.0 98.8 0.9 0.3 99.7 100.0
R 98.2 1.1 0.5 0.1 0.1 99.3 99.9 1 98.7 1.1 0.2 99.8 100.0 |[98.0 1.3 0.4 0.1 0.2 99.3 99.8 98.4 1.4 0.2 99.8 100.0
W 98.0 1.4 0.2 04 0.1 99.4 99.9 197.1 1.7 0.5 0.7 98.8 100.0 198.6 1.1 0.1 0.2 99.6 100.0 [99.2 0.7 0.1 99.9 100.0
ER 98.7 1.0 0.3 99.7 100.0 | 99.7 0.3 99.7 100.0 |99.2 0.5 0.3 99.7 100.0 98.8 1.2 100.0 100.0
L] 99.3 0.7 99.3 100.0 1100.0 100.0 100.0 97.7 2.3 100.0 100.0 1 98.4 1.6 100.0 100.0
o) 1982 1.2 0.2 0.3 0.1 99.5 99.9 198.6 1.0 0.2 0.2 99.6 100.0 |98.5 1.1 0.2 0.1 0.0 0.0 99.6 999 988 1.1 0.1 0.1 99.8 100.0
20164EE %% 97.7 1.8 0.3 0.1 0.0 99.5 100.0 [98.3 1.3 0.2 0.2 0.0 0.0 99.6 100.0 99.0 0.8 0.1 0.1 0.0 99.8 100.0 [98.9 0.8 0.2 0.0 0.1 99.7 99.9
20154 98.5 1.2 0.2 0.1 0.0 99.7 100.0 |198.8 0.9 0.2 0.1 0.0 0.0 99.7 100.0 99.1 0.6 0.1 0.1 0.0 99.7 100.0 199.0 0.8 0.2 0.0 99.8 100.0




X ORI & Rl M R R

201 7T4E ooy A = (AR (5 /ml)
X4y 12 H 1 H 2 H 3 H
<14 —3.4 —5.4 —10.4—20.4205= =34 =10.4/<1.4 —3.4 —5.4 —10.4—20.4205==34 =104 <14 —3.4 —5.4 —10.4—20.420.5==3.4 =<10.4/=<1.4 —3.4 —5.4 —10.4—20.420.5=<=3.4 =£10.4
Hi X (%) (% %) (% %) (% %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
PV 100.0 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0 1 98.2 1.8 100.0 100.0
2250 95.7 1.7 2.6 97.4 100.0 100.0 100.0 100.0 | 97.3 2.7 97.3 100.0 |100.0 100.0 100.0
)1 98.1 1.5 0.4 99.6 100.0 198.4 1.2 0.4 99.6 100.0 |98.0 1.5 0.5 99.5 100.0 | 97.9 2.1 100.0 100.0
% 100.0 100.0 100.0 |100.0 100.0 100.0 ' 97.4 2.6 97.4 100.0 100.0 100.0 100.0
Ficgil 100.0 100.0 100.0 /100.0 100.0 100.0 97.4 2.6 100.0 100.0 96.8 3.2 100.0 100.0
b= 959 2.7 1.5 98.5 100.0 |97.4 1.6 1.1 98.9 100.0 | 99.4 0.6 99.4 100.0 |100.0 100.0 100.0
JiIER7 97.9 2.1 100.0 100.0 1 96.1 1.7 2.1 97.9 100.0 97.2 2.8 100.0 100.0 1 97.9 2.1 100.0 100.0
H& 100.0 100.0 100.0 1 99.3 0.7 100.0 100.0 1100.0 100.0 100.0 1 97.7 2.3 100.0 100.0
5 98.4 1.4 0.1 0.1 99.8 100.0 [99.1 0.8 0.1 99.9 100.0 1 98.9 1.1 100.0 100.0 198.9 0.8 0.1 0.2 99.7 100.0
Bl 99.0 0.7 0.1 0.2 99.7 99.8 198.4 09 0.5 0.2 99.3 100.0 |98.6 1.3 0.2 0.0 99.8 100.0 1 98.6 1.2 0.2 99.8 100.0
R 98.2 1.2 0.2 0.2 0.1 0.1 99.4 99.8 989 0.9 0.1 0.2 99.7 100.0 99.4 0.6 100.0 100.0 98.6 1.3 0.1 99.9 99.9
W 98.1 1.6 0.1 0.2 99.7 100.0 |98.9 0.7 0.3 0.1 99.6 100.0 |98.0 1.6 0.1 0.3 99.6 100.0 1 98.7 1.2 0.1 99.9 100.0
ER 98.7 1.1 0.3 99.7 100.0 |99.2 0.8 100.0 100.0 1 99.1 0.9 100.0 100.0 1 98.2 1.3 0.5 99.5 100.0
B 95.8 4.2 100.0 100.0 1 94.9 5.1 100.0 100.0 1100.0 100.0 100.0 1 97.1 2.9 100.0 100.0
¥y 983 1.3 0.1 0.2 0.0 0.0 99.7 99.9/98.8 1.0 0.2 0.1 99.7 100.0 |98.8 1.1 0.1 0.1 0.0 99.9 100.0 |[98.6 1.2 0.1 0.1 0.0 99.8 100.0
2016444 98.4 1.2 0.1 0.2 99.7 100.0 |[98.8 0.9 0.2 0.0 0.1 99.7 99.9 1986 1.2 0.1 0.0 0.0 99.8 100.0 [98.6 1.2 0.1 0.0 0.1 99.7 99.9
20154 ER 98.7 1.0 0.1 0.1 0.0 99.8 100.0 198.8 0.9 0.2 0.2 99.7 100.0 199.0 0.8 0.1 0.1 99.7 100.0 198.9 0.9 0.1 0.1 0.0 99.8 100.0
X5y S ¥y (4H~3AH)
<14 —3.4 —5.4 —10.4—20.420.5= =34 =104
Hi X (% %)
% % % % % % % %
AXF 98.7 0.8 0.3 0.2 99.5 100.0
2250 96.5 2.5 0.2 0.8 99.0 100.0
)1 975 2.0 0.2 0.1 0.1 0.1 99.5 99.9
%k 98.6 0.7 04 02 99.3 100.0
Jicail| 97.7 2.3 100.0 100.0
A= 98.0 1.5 0.3 0.2 99.5 100.0
JiER7 97.0 2.1 0.6 0.2 0.0 99.2 100.0
H& 98.9 1.0 0.1 0.0 99.9 100.0
5 98.8 1.0 0.1 0.1 0.0 99.8 100.0
B 985 1.1 0.2 0.1 0.1 99.6 99.9
R 986 1.1 0.1 0.1 0.0 0.0 99.7 99.9
i 983 1.3 02 02 0.0 99.6 100.0
ER 99.1 0.8 0.1 0.1 99.8 100.0
L] 98.1 1.8 0.1 99.9 100.0
S #1985 1.1 0.2 0.1 0.0 0.0 99.7 100.0
20164445 98.6 1.1 0.2 0.1 0.0 0.0 99.7 100.0
2015441 98.8 0.9 0.1 0.1 0.0 0.0 99.7 100.0




	地区別合乳細菌数度数分布表（月別）

